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Options :

485584138217. 1
485584138218.2
485584138219.3
485584138220. 4
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General Test

Group Number : 15

Group Id : 485584782
Group Maximum Duration : 60

Group Minimum Duration : 60

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 250

Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

General Test

Section Id : 485584900
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 50

Section Marks : 250
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4855842555
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 451 Question Id : 48558433996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

In how many ways can a commitiee of 7 members be selected from 6 men and 5 women consisting of 4 men
and 3 women?

1. 25

5=

147
3. 150
4. 600

Options :

485584135981. 1
485584135982.2
485584135983. 3
485584135984. 4

Question Number : 451 Question Id : 48558433996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

7 Gl &1 U Sac] fha- YR 4 9ufid &1 off 9ol §
6 Y 3R 5 Aigansii § ¥ 7 foRH 4 g2y SiR 3 Aigar gl

1. 25
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4. 600

Options :

485584135981. 1
485584135982. 2
485584135983. 3
485584135984. 4

Question Number : 452 Question Id : 48558433997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




; ; I :
The simple interest of Rs 6500 for | -2- years at 10% is

1. 945

. 950

[ B8]

3. 960
4. 975

Options :

485584135985. 1
485584135986. 2
485584135987. 3
485584135988. 4

Question Number : 452 Question Id : 48558433997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

iﬁi@@ﬁ?l%ﬂﬁﬁiﬁﬂl 10% 1 &3 Y JIYRU] o419 © :

1. 945
2. 950
3. 960

4. 975

Options :

485584135985. 1
485584135986. 2
485584135987. 3
485584135988. 4

Question Number : 453 Question Id : 48558433998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Two friends A and B mvest in a buissness in partnership. B borrows 20% of A's salary, combines 1t with 60%
of his salary and mnvest with A, who puts all of his remaining salary. One year later the ratio of profit of A and
B 13 5:3 respectively and B returns Rs.21000 to A which he borrowed from him. What 1s the difference
between salary of A and B?

1. Rs. 56000

[ ]
o
e

. 32000
3. Rs. 60000

4. Bs. 28000

Options :

485584135989. 1
485584135990. 2
485584135991. 3
485584135992. 4

Question Number : 453 Question Id : 48558433998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

21 a1 A 3R B U g9/ H UIe-RRM # (9% Bd €1 B, A § 39 dc Bl 20% FUR Ad & ofl S8H
Y da BT 60% HHA & 3R A & 1Y Haw Ha1 8, 391 GRI g1 g1 da- [Ha% Sal ¢ | U a4 &

U7 A 3R B & HE @1 ol 301 3 § 3R B 21000 TUY A DT AT9H Pl & Sl 39 39 & IR ey
U1 A AR B B I BT R 1 87

1. Rs. 56000

!q
v

5. 32000
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o

. 60000

4. Bs. 28000

Options :

485584135989. 1
485584135990. 2
485584135991. 3
485584135992. 4

Question Number : 454 Question Id : 48558433999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The perimeter of one face of a cube 1s 24em. its volume must be:

1.216 em®

[ ]

1200 em?
3.576 em®

4, 13824 em?

Options :

485584135993. 1
485584135994. 2
485584135995. 3
485584135996. 4

Question Number : 454 Question Id : 48558433999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U U4 $1 U 8 & R 24 Cm 8, SHPT SIS GRT
1.216 em?®

. 1200 cm?

| ]

3,576 cm

4, 13824 em?
Options :
485584135993, 1
485584135994. 2
485584135995, 3
485584135996. 4

Question Number : 455 Question Id : 48558434000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




What 1z emprical relationship between mean, median and mode?

A. Mean - Mode = 3{Mean - Median)
B. Mode = Mean - Median

C. Mode = 3 Median - 2 Mean

D. Median - Mode = 3 (Mean - Median)
E. Mode = 2 Mean + 3 Median

Choose the correct answer from the options given below

1. C only

[

. Both A and C only
3. Both A and B only

4. Both D and E only

Options :

485584135997. 1
485584135998. 2
485584135999. 3
485584136000. 4

Question Number : 455 Question Id : 48558434000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

a7e, AT 3R 95a% & Aed AFHIRAS Jay Fa1 82

A. A9 dg0 = 3(HIH - HIf9IT)

B. S5 = HIH - A&

C. SgU® = 3 TNEMPl- 2 W

D. UIfeeh]- dgad = 3 (A1 - WD)
E. 0% = 2 T + 3 AT

2 fEu Ty fdeedl o © 92l IR S -
1. $adc

A AR C

PATAARB

4. $dAD HRE

Options :

485584135997. 1
485584135998. 2
485584135999. 3
485584136000. 4
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Question Number : 456 Question Id : 48558434001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A person walks from his house to his office at a speed of x| kan/'hr and returns by the same route at a speed of
x7 lkan'hr. What 1s his average speed?

;A 19
2

X + X

L

-

L%

2x.x;

X + Aq

X + X,

X

Options :

485584136001. 1
485584136002. 2
485584136003. 3
485584136004. 4

Question Number : 456 Question Id : 48558434001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U SAfad S0 IR T Y- S x, [BH=0e] $1 10 I U offdl & SR 39 AR 4+, ol muer B
T § Gy diedl & O 39®! 3iad Tifg a1 sl

X s
2

X + X,

|

22X

2x.x,

X + Xa

Options :
485584136001. 1



485584136002. 2
485584136003. 3
485584136004. 4

Question Number : 457 Question Id : 48558434002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A thief is spotted by a policeman from a distance of 100m. when the policeman starts the chase. the thief also
starts running. If the speed of the thief be 8 km/hr and that of the policeman 10 km/hr. how far the thief will
have run before he 1s overtaken ?

1. 100 m

[

200 m
3. 400 m

4, 500 m

Options :

485584136005. 1
485584136006. 2
485584136007. 3
485584136008. 4

Question Number : 457 Question Id : 48558434002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U GIeTEHT 100 m 1 &30 4 U IR B! FUT 1 Tgad1 € | STd GereH SH1 48 H1 L& Dl §
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O 9§ g4 IR ot g2 of Il g

1. 100 T,
2. 200 91,
400 T,
4. 500 11,

Options :

485584136005. 1
485584136006. 2
485584136007. 3
485584136008. 4

Tad



Question Number : 458 Question Id : 48558434003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The perimeter of a square and a regular hexagon are equal. The ratio of the area of the hexagon to the area of
the square 1s:

1.243:1
2:3
3.3J3:2
N2:3

Options :

485584136009. 1
485584136010. 2
485584136011. 3
485584136012. 4

[ ]

4=

Question Number : 458 Question Id : 48558434003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U@ @ SR Yeyw &1 URAY THH 81 99 Y4 & &9%d 1 a7l & % 3 39 &
L2431

2:43

33:2

4..02:3

Options :

485584136009. 1
485584136010. 2
485584136011. 3
485584136012. 4

b2
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Question Number : 459 Question Id : 48558434004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The radius of the wheel of a vehicle 1s 35cm. The wheel makes 10 revolutions m 6 seconds. The speed of the
vehicle 1s:

1. 70 km/hr

2.13.2 lan'hr

L)

. 17.5 kim'hr

4, 20 kmv'hr

Options :

485584136013. 1
485584136014. 2
485584136015. 3
485584136016. 4

Question Number : 459 Question Id : 48558434004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U d16 & UlgU BT Ao 35 em &1 91641 06 oS H 10 T9HY L Xl ¢ | GRUSBI T § -
1. 70 fo. #i.der

132 T o mer

-17.5 fop. =t der

4. 20 {0 dl der

Options :

485584136013. 1
485584136014. 2
485584136015. 3
485584136016. 4
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Question Number : 460 Question Id : 48558434005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A sum of money triples it self in 3 years at compound interest. In how many years will it becomes 9 times

1.9 years

[ ]

. 0 years
3. 12 years
4. 5 years

Options :

485584136017. 1
485584136018. 2
485584136019. 3
485584136020. 4

Question Number : 460 Question Id : 48558434005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U YR o9 a9 T Fehqie o079 % § O 9 o 41 51 ol ¢ | e ast o g =1 Tt 81 st
L
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12T

4. 599

Options :

485584136017. 1
485584136018. 2
485584136019. 3
485584136020. 4
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Question Number : 461 Question Id : 48558434006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Aman got 30% of the maximum marks in an examination and failed by 15% marks. However. Anil who took
the same examination got 40% of the total marks and got 10 marks more than the passing marks. What were
the passing marks in the examination?

1. 85
2.90
3. 95

4. 100

Options :

485584136021. 1
485584136022. 2
485584136023. 3
485584136024. 4

Question Number : 461 Question Id : 48558434006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U GRI&T H S A Hfeean il H § 30% 3% U [y 3R 15 31 9 S0l 81 T SHia = 391
e T 40% 3 U 6T & S0l g4 g i@t F 10 3HfE 91 giten § 30l 514 & o fea i@
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1. 85

[ )

.00

25

L)

4. 100

Options :

485584136021. 1
485584136022. 2
485584136023. 3
485584136024. 4

Question Number : 462 Question Id : 48558434007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Alkriti buys a smartphone for 212.500. If she wants to profit of 30%. how much should she charge for the
smartphone?

1. 16000
2. 14375
3. 16250

4. 15400

Options :

485584136025. 1
485584136026. 2
485584136027. 3
485584136028. 4

Question Number : 462 Question Id : 48558434007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

3TPId UH WIEWIH 12.5000/- $YU H WGl ¢ | 13 98 59 UR 30 % 1Y 918d] 6. o 34 59 W BH &
fero foaq =gu o a==1 9nfgud

1. 16000

2.14375

. 16250

L]

4. 15400

Options :

485584136025. 1
485584136026. 2
485584136027. 3
485584136028. 4

Question Number : 463 Question Id : 48558434008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




%4200 are divided among 'P', 'Q. 'R’ and 'S’ in such a way that the shares of P’ and 'Q'. 'Q’ and 'R’ as well 'R’
and 'S' are in the ratios of 2:3, 4:5 and 6:7 resp. ectively the share of 'P' 1s:

1. % 600
2.7640
3. %1280

4.7 1480

Options :

485584136029. 1
485584136030. 2
485584136031. 3
485584136032. 4

Question Number : 463 Question Id : 48558434008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

34200 BT P, Q. 'R 3 'S' H 59 UPR die] WIdl © fdh P’ 31X Q. 'Q' 3R R qUT'R' 3R 'S' & U T
STATd B 2:3, 4:5 3R 6:7 T | 'P' BT YT &

1. 2 600
2.7640
3.% 1280

4.7 1480

Options :

485584136029. 1
485584136030. 2
485584136031. 3
485584136032. 4

Question Number : 464 Question Id : 48558434009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Work done by A in one day 1s half of the work done by B in one day. Work done by B is half of the work done
by C in one day. If C alone can do the work in 7 days, then in how many days can A. B and C together
complete the work?

1.4
2.14
3.21

4. 28

Options :

485584136033. 1
485584136034. 2
485584136035. 3
485584136036. 4

Question Number : 464 Question Id : 48558434009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

AD RIS &7 foban T Hrd ‘B R U e # f6u M o § amen g1 B §R1 U & § fobar T
P ' ERITE A A fPr e g s g1 e o s fdi em el o7 R SR gFar 2. AT AL B
ARcIu TRz sd P P A I@d gl

1.4

[ )

.14

L)
[
o

4. 28

Options :

485584136033. 1
485584136034. 2
485584136035. 3
485584136036. 4

Question Number : 465 Question Id : 48558434010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A pair of dice 18 thrown and sum of the numbers on two tosses is observed. Which of the statements are correct

1
A. Probablity of getting sum as 11 13 E

B. Probability of getting sum as 5 is o
12

C. Probability of getting sum as 7 is —
= —

I
D. Probability of getting sum as 6 is a

Choose the correct answer from the options given below:
1. Aand C Only
2. Aand B Only
3.A.C.D Only
4. A and C Only

Options :

485584136037. 1
485584136038. 2
485584136039. 3
485584136040. 4

Question Number : 465 Question Id : 48558434010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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= feu v fawedt § @ 9et S gifvu
1. BATAIARC
2. Had A AR B

3. PATA, CIHRD
4, BT A AR C

Options :

485584136037. 1
485584136038. 2
485584136039. 3
485584136040. 4

Question Number : 466 Question Id : 48558434011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The value of the sum of 10 term of the series

1 1 1

= — — e —

=

R =
21 -1 6-1

+.i. 18




Options :

485584136041. 1
485584136042. 2
485584136043. 3
485584136044. 4

Question Number : 466 Question Id : 48558434011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

el 718 40t F 9 9l & a1 am gl
1 1 [

= —— -+ +..

Sm - T — 5
22-1 4-1 & -1

| ]

[PN]

Options :

485584136041. 1
485584136042. 2
485584136043. 3
485584136044. 4

Question Number : 467 Question Id : 48558434012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Diameter of sphere 15 28 em Find out its surface area?

1. 2464 cm?

[ ]

. 11498 em?
3. 2490 cm?

4. 2260 cm?



Options :

485584136045. 1
485584136046. 2
485584136047. 3
485584136048. 4

Question Number : 467 Question Id : 48558434012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

U TId 1 o0 28 Y 11, § | STH1 KT &5 Hd Bife|
1. 2464 QA 2

11498 .11 2

3.2490 W HI 2

4.2260 9.1t 2

Options :

485584136045. 1
485584136046. 2
485584136047. 3
485584136048. 4

[ )

Question Number : 468 Question Id : 48558434013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which two numbers are both square and cube numbers?

1.1and8

[

.8and 27
3.27 and 64

4, 1 and 64

Options :

485584136049. 1
485584136050. 2
485584136051. 3
485584136052. 4

Question Number : 468 Question Id : 48558434013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

HH-4 & TR a1 SR 97 T H 5 2
1.13R8

.8 3R 27

3.27 3R 64

4. 13fR 64

Options :

485584136049. 1
485584136050. 2
485584136051. 3
485584136052. 4

| ]

Question Number : 469 Question Id : 48558434014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In the given figure the value of angle 'x' 15

3. 140

4. 1107

Options :

485584136053. 1
485584136054. 2
485584136055. 3
485584136056. 4



Question Number : 469 Question Id : 48558434014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

frmufrEdy s A — §

1. 1307
2. 120°
3. 140°

4. 110°

Options :

485584136053. 1
485584136054. 2
485584136055. 3
485584136056. 4

Question Number : 470 Question Id : 48558434015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

How many words with or without meaning, can be formed by using all the letters of the word"DELHI". using
cach letter excatly once?

1. 12
2.50
3.60

4.10

Options :

485584136057. 1
485584136058. 2
485584136059. 3
485584136060. 4



Question Number : 470 Question Id : 48558434015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fpa arde sruar e wes. 'DELHI Yeg & 31&R] &1 SUUN $Ydr €410 off Tdd o, U S1&R &I
SN 3R Uh &R G2

1.12
2.50
3. 60

4. 10

Options :

485584136057. 1
485584136058. 2
485584136059. 3
485584136060. 4

Question Number : 471 Question Id : 48558434016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

If UPKAR is coded as UOQILAQS, then the code for HONEY will be:

1. HIOMOXZA

[ O]

. GIOMEOXY
3. GIOMOEXZ

4. HIOMOEXZ

Options :

485584136061. 1
485584136062. 2
485584136063. 3
485584136064. 4

Question Number : 471 Question Id : 48558434016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




gfd UPKAR &l feRal 90 UOQILAQS, 09 HONEY &1 foal o .

1. HHOMOXZA

[ S

. GIOMEOXY

. GIOMOEXZ

g

4. HIOMOEXZ

Options :

485584136061. 1
485584136062. 2
485584136063. 3
485584136064. 4

Question Number : 472 Question Id : 48558434017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

STATEMENT: Covid-19 15 a pandemic issue now.

ASSUMPTIONS:

[. Government should work towards complete vaceination of the population.

II. Cocid-19 upcoming variants are not fatal and should be treated as normal flu.
1. Only Assumption I 1s implict
2. Only Assumption IT 15 implict
3. neither Assumption I nor Assumption II 1s implict

4. Both Assumption I and Assumption IT are implict

Options :

485584136065. 1
485584136066. 2
485584136067. 3
485584136068. 4

Question Number : 472 Question Id : 48558434017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136065. 1
485584136066. 2
485584136067. 3
485584136068. 4

Question Number : 473 Question Id : 48558434018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Mark the correct option based on the statement and conclusion that follows
Statements

A. All states having Rain Water Harvesting face no water problem.

B. One of the states has still not applied Rain Water Harvesting policy
Conclusions:

L. It may be facing water probloem

I1. Rain Water Harvesting solve water problem.

1. Only conclusion I follows

[ ]

. Only conclusion II follows

3. Both coneclusion I and II follows

4. Neither conclusion I nor IT follows

Options :
485584136069. 1
485584136070. 2



485584136071. 3
485584136072. 4

Question Number : 473 Question Id : 48558434018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
FrafefEd By SR e & o1uR ) 98 faee MU .
YA

A, T I50 o au] Wd U Hd © ofd JHWT &I 9TEE1 98] Hd |
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4. G 5PN T 3R 11 $FHR07 98] 3 o

Options :

485584136069. 1
485584136070. 2
485584136071. 3
485584136072. 4

Question Number : 474 Question Id : 48558434019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the next number from the following series 36.40, 48, 60, 76 7

1.94

[ ]

.98
3.92

4. 96

Options :

485584136073. 1
485584136074. 2
485584136075. 3
485584136076. 4

Question Number : 474 Question Id : 48558434019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fraferiad oRae § Sl e Bt Ugar BIfIU 36.40, 48. 60. 76 2

1. 94

[ ]

.98

2

LFS]

4.96

Options :

485584136073. 1
485584136074. 2
485584136075. 3
485584136076. 4

Question Number : 475 Question Id : 48558434020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




What will be the measurement of the angle made by the hands at 18 min past 57

1. 52°

2. 51°

4. 49°

Options :

485584136077. 1
485584136078. 2
485584136079. 3
485584136080. 4

Question Number : 475 Question Id : 48558434020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

5 go@R 4 18 e R U 31 uve iR e @1 ggaf gRI §-11 741 610 &1 57

[s]

1. 52

2.5

ot
Q

4. 49°

Options :

485584136077. 1
485584136078. 2
485584136079. 3
485584136080. 4

Question Number : 476 Question Id : 48558434021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Hear 15 to Deaf as Speak it to
1. Quite
2. Silent
3. Mumb or Mum

4, Dumb

Options :

485584136081. 1
485584136082. 2
485584136083. 3
485584136084. 4

Question Number : 476 Question Id : 48558434021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TR G+ Haierd §831 8 ol arer] gacie:

1.9
20d

_lx.-l

3. 9%
&7

Options :

485584136081. 1
485584136082. 2
485584136083. 3
485584136084. 4

Question Number : 477 Question Id : 48558434022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason B

Assertion A : The sun rises 2 hours later in Gujrat as compared to Arunachal Pradesh. but watches shows the
same time.

Reason R : The longitudinal gap between Arunachal Pradesh and Gujrat 1s about 30 degrees but at the same
tume India has adopted Indian Standard tune which 1s at 82.5° West.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A 1s correct but R 1s not correct

4. A is not correct but R 1s correct

Options :

485584136085. 1
485584136086. 2
485584136087. 3
485584136088. 4

Question Number : 477 Question Id : 48558434022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

19 &1 HUH AU §: TP SHHHYT (Assertion A) & =0 H [RET & AT THI IHD PRI (Reason R) b &Y
i
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Options :
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485584136085. 1
485584136086. 2
485584136087. 3
485584136088. 4

Question Number : 478 Question Id : 48558434023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

K 1s more beautiful than B. B 1s not as beautiful as Y. J 1s not beautiful as B or Y. The least beautiful among all
is:

!.u.a
)

4. K
Options :
485584136089. 1
485584136090. 2

485584136091. 3
485584136092. 4

Question Number : 478 Question Id : 48558434023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

K 3if@ Yex & B ¥ B ST Y& 16! o1 Y 1 TSaT gex 76l ¢ Oia B SR v s St H 4 o
g o
1.B

Z, ¥

L)
il

4 K

Options :

485584136089. 1
485584136090. 2
485584136091. 3
485584136092. 4

Question Number : 479 Question Id : 48558434024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :



No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

I introduced a lady "she is the mother of the only daughter of my son's father in law. how 1s she related to me:

A She 15 my sister

B. She 1s the mother in law of my son

C. She is my son's aunt

D. She 15 the wife of my son's father i law
E. She 15 my mother

Choose the correct answer from the options given below:
1.A. C.D Only
2.B,C,D Only
3.A.D.E Only

4. B. D Only

Options :

485584136093. 1
485584136094. 2
485584136095. 3
485584136096. 4

Question Number : 479 Question Id : 48558434024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




U U Aiga &1 U= a1 §. 98 G §¢ & 9 $i sl el b1 4f ¢ | 98 G4 [59 UpR Tefia ¢ 2
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i< f¢u T fasedi § ¥ Hel TR &7 98 I
1.%dd A, C. D
2. ®qdB,C. D
3. %A A, D, E
4. PAUB. D

Options :

485584136093. 1
485584136094. 2
485584136095. 3
485584136096. 4

Question Number : 480 Question Id : 48558434025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In the statements below study the question asked and decide which of the following statement is/are necessary
to answer the question:

Find the present salary of Arvind:
I. The salary increase every year by 15%
II. The salary at the time of joining was 18,000
II1. He has joined the company exactly 10 years ago.
Which statement(s) are necessary
1.1 and IT only
2. 11 and ITI only
3.1 and III only

4. all I, 11, and III necessary

Options :
485584136097. 1



485584136098. 2
485584136099. 3
485584136100. 4

Question Number : 480 Question Id : 48558434025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

i1 AU eyl 1. 4 710 U ol Sienge ®3¥ iR FAvla &3 b 9T &4 & fou Fafafed sy ey 49
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Pad 1 AR I

4, 911,11, SR I AT g |
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Options :

485584136097. 1
485584136098. 2
485584136099. 3
485584136100. 4

Question Number : 481 Question Id : 48558434026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which does not belong to the others
1. Key Board
2. Windows
3. Hard Drive
4. CPU

Options :



485584136101. 1
485584136102. 2
485584136103.3
485584136104. 4

Question Number : 481 Question Id : 48558434026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

i 3 ¥ TR T8l B
L @Es
e

| )

Lad

. B1S 315
4. didig.

Options :

485584136101. 1
485584136102. 2
485584136103. 3
485584136104. 4

Question Number : 482 Question Id : 48558434027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Find the answer figure in which question figure is imbrted —q

[ ]

Options :

485584136105. 1
485584136106. 2
485584136107. 3
485584136108. 4

Question Number : 482 Question Id : 48558434027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136105. 1
485584136106. 2
485584136107.3
485584136108. 4

Question Number : 483 Question Id : 48558434028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the correct mirror-image of fig(X) from amongst the four alternatives (1), (2). (3) and (4) given along
with it.

(x}

= ||

[ )
r
-
H

1| X B

Options :

485584136109. 1
485584136110. 2
485584136111. 3
485584136112. 4

Question Number : 483 Question Id : 48558434028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136109. 1
485584136110. 2
485584136111. 3
485584136112. 4

Question Number : 484 Question Id : 48558434029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The days before yesterday. it was monday. After 39 days. 1t will be
1. Wednesday
2. Sunday
3. Friday
4, Saturday

Options :
485584136113. 1



485584136114.2
485584136115. 3
485584136116. 4

Question Number : 484 Question Id : 48558434029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

fat gu @ 9 Ugd fad SimaR 1. 30 R sre g
1. GYIR
2. AdaRr

 YRPAR
4, 9HaR

Options :

485584136113. 1
485584136114. 2
485584136115.3
485584136116. 4

L]

Question Number : 485 Question Id : 48558434030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Find missing term: P2A, S6D, 7. Y54]

1.F9U

[

. VI8G
3.V24G

4.VI2X

Options :

485584136117. 1
485584136118. 2
485584136119.3
485584136120. 4

Question Number : 485 Question Id : 48558434030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

P2A, 56D, 7,Y54]

I &1 91d BiI:
1. FoU
2.VISG
3.V24G

4. VIZX

Options :

485584136117. 1
485584136118. 2
485584136119. 3
485584136120. 4

Question Number : 486 Question Id : 48558434031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the correct option to complete the series.

Problem figures

S X

L Ix

x|

[ ]

Lx

ps
3.
]
®
4,
Options :

485584136121. 1
485584136122. 2
485584136123.3
485584136124. 4

Question Number : 486 Question Id : 48558434031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136121. 1
485584136122. 2
485584136123.3
485584136124. 4

Question Number : 487 Question Id : 48558434032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




N

Choose the correct option by forming the pieces given in the above figure.

[ ]

R EE S

Options :

485584136125. 1
485584136126.2
485584136127.3
485584136128. 4

Question Number : 487 Question Id : 48558434032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136125. 1
485584136126.2
485584136127. 3
485584136128. 4

Question Number : 488 Question Id : 48558434033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Following are the conditions for selection of Director in an Organisation. The candidate must

I. Be a MBA in Marketing with 1st class securing a mmimum of 65% marks

II. Have an experience of working in related area at least two years after acquiring the desired qualification
II1. Have passed the written test with at least 60% marks.
IV. Be not less than 40 year and not more than 50 year of age as 2.3.2020

Salman Khan 15 a MBA from IIM Lucknow, passed out i 2000 with 70% marks. He is working as a
marketing head since July 2001. His date of birth 1s 25th Dec 1975. He has cleared the written test with 60%
marks?

Indicate your decision by marking answers to each question as follows:

1. If the candidate 15 to be selected

[ ]

. If the candidate is not to be selected
3. If data 1s not adequate to take the decision

4, If the case is referred to the chairman

Options :

485584136129. 1
485584136130. 2
485584136131. 3
485584136132. 4

Question Number : 488 Question Id : 48558434033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136129. 1
485584136130. 2
485584136131.3
485584136132. 4

Question Number : 489 Question Id : 48558434034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Find the figure obtained after folding the given figure along the dotted line.

[ ]

Options :

485584136133. 1
485584136134.2
485584136135. 3
485584136136. 4

Question Number : 489 Question Id : 48558434034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136133. 1
485584136134.2
485584136135. 3
485584136136. 4

Question Number : 490 Question Id : 48558434035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If South-East becomes North and North-East becomes West and all the rest directions are changed in the same
manner, what will the direction for the South-East?

1. West
2. North-West
3. North

4, East

Options :
485584136137. 1



485584136138. 2
485584136139.3
485584136140. 4

Question Number : 490 Question Id : 48558434035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

afd Sf&gd, FTR 81 oifdl & R IRy, UidH 81 S 8: $R 33l upR I+l areel (9w) 32t i sea
TG &: o 1 o fa=T &féf0r 9d & forg gt

1. 9l
IR Ud

3.3

4.9d

Options :

485584136137. 1
485584136138. 2
485584136139. 3
485584136140. 4

| ]

Question Number : 491 Question Id : 48558434036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which among the following dances 15 not a Martial Dance?

1. Pika

[

. Gatka

L]

. Kathaputhi
4. Choliya

Options :

485584136141. 1
485584136142. 2
485584136143.3
485584136144. 4

Question Number : 491 Question Id : 48558434036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Compreension Nico
Feftfad e o amRe To T8
1. et
2. 7Tl
3. PoYTdl
4. Biferan

Options :

485584136141. 1
485584136142. 2
485584136143.3
485584136144. 4

Question Number : 492 Question Id : 48558434037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Harappan age 1s

1. 3,500 BC - 2,500 BC

[ O]

. 2.500 BC - 1.750 BC
3.2.000 BC—-1.000 BC

4.3.500 BC - 1.000 BC

Options :

485584136145. 1
485584136146. 2
485584136147. 3
485584136148. 4

Question Number : 492 Question Id : 48558434037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




oW FId §

1. 3.500 BC — 2,500 BC

| ]

.2.500BC - 1.750 BC

. 2,000 BC - 1.000 BC

LN

4. 3.500 BC - 1.000 BC

Options :

485584136145. 1
485584136146.2
485584136147.3
485584136148. 4

Question Number : 493 Question Id : 48558434038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Archaeological site Palvar' is situated in

1. Kerala

[

. Andhra Pradesh
3. Karnatalks

4, Tamil Nadu

Options :

485584136149. 1
485584136150. 2
485584136151.3
485584136152. 4

Question Number : 493 Question Id : 48558434038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




RIdfcdd ®d Uadrs [Ud 3
1. 3

TS
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4, dfferg

Options :

485584136149. 1
485584136150. 2
485584136151. 3
485584136152. 4

I
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Question Number : 494 Question Id : 48558434039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

There are 4 electric bulb of 50W (each) 15 used for 5 hour per day. Calculate the energy consumed in the
month of January.

1. 31 Kwh

2. 31 Joulr
3.36%10°7

4.31 % 3.6 x 10° T Kwh

Options :

485584136153. 1
485584136154. 2
485584136155.3
485584136156. 4

Question Number : 494 Question Id : 48558434039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1.31 Kwh

2. 31 Joulr

3.6% 1097

LS

4.31 % 3.6 x 10° T Kwh

Options :

485584136153. 1
485584136154.2
485584136155.3
485584136156. 4

Question Number : 495 Question Id : 48558434040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is an example of an Emulsion?

1. Fog

[ O]

. Clouds
3. Mist

4. Milk

Options :

485584136157. 1
485584136158. 2
485584136159.3
485584136160. 4

Question Number : 495 Question Id : 48558434040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136157. 1
485584136158. 2
485584136159.3
485584136160. 4

Question Number : 496 Question Id : 48558434041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which statements are true about Phylum Arthropoda?

A. Body is divided into one part.

B. Body 1s divided into two parts.

C. Body 1s divided into three parts.
D. Joinedleg

E. Circulatory system is of close type.

Choose the correct answer from the options given below:

1. A and B only

[

. B and C only
3.D and E only

4. C and D only

Options :

485584136161. 1
485584136162.2
485584136163. 3
485584136164. 4

Question Number : 496 Question Id : 48558434041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136161. 1
485584136162. 2
485584136163. 3
485584136164. 4

[ ]

Question Number : 497 Question Id : 48558434042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Who was invented Universal Serial Bus (USB)?

1. Ajay Sood

[ O]

. Ajay Bhatt
3. MLS. Swaminathan

4. Gagan B. Mohanthy

Options :

485584136165. 1
485584136166. 2
485584136167. 3
485584136168. 4

Question Number : 497 Question Id : 48558434042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136165. 1
485584136166. 2
485584136167. 3
485584136168. 4
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Question Number : 498 Question Id : 48558434043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Where was Commonwealth Games 2022 held?

1. London

[

. Canberra
3. Brimingham

4, Manchester

Options :

485584136169. 1
485584136170. 2
485584136171. 3
485584136172. 4

Question Number : 498 Question Id : 48558434043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. @A
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Options :

485584136169. 1
485584136170. 2
485584136171.3
485584136172. 4

Question Number : 499 Question Id : 48558434044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key 'Value

Comprehension MCQ

Which states women's U-18 team won the Khelo India Youth Games 20227

1. Kerala

[ ]

. Punjab
3. Tamil Nadu

4. Haryana

Options :

485584136173. 1
485584136174. 2
485584136175.3
485584136176. 4

Question Number : 499 Question Id : 48558434044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136173. 1
485584136174. 2
485584136175.3
485584136176. 4

L]

Question Number : 500 Question Id : 48558434045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

India has been building the sea-port of Chabahar port for which of these West Asian country:
1.Irag
2. Iran

3. UAE

4, Oman

Options :

485584136177. 1
485584136178.2
485584136179. 3
485584136180. 4

Question Number : 500 Question Id : 48558434045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136177. 1
485584136178.2
485584136179. 3
485584136180. 4

I
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Question Number : 501 Question Id : 48558434046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Recently, whom of Indian origin has become the new prime minister of Britain?

1. Dilip Boland

[ ]

. Rajesh David
3. Rishi Sunak

4, Aman Panda

Options :

485584136181. 1
485584136182.2
485584136183. 3
485584136184. 4

Question Number : 501 Question Id : 48558434046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136181. 1
485584136182.2
485584136183. 3
485584136184. 4

Question Number : 502 Question Id : 48558434047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which team has won the 2022 Women's Pan American Cup Field Hockey Tournament?
1. Netherland
2. Argentina
3. South Korea
4. Malaysia

Options :

485584136185. 1
485584136186. 2
485584136187. 3
485584136188. 4

Question Number : 502 Question Id : 48558434047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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4, QiR

Options :

485584136185. 1
485584136186. 2
485584136187. 3
485584136188. 4

I
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Question Number : 503 Question Id : 48558434048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Name the longest river of the world?

1. Nile

[ ]

. Ganga
3. Amazon

4. Yangtze river

Options :

485584136189. 1
485584136190. 2
485584136191. 3
485584136192. 4

Question Number : 503 Question Id : 48558434048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :
485584136189. 1
485584136190. 2

485584136191.3
485584136192. 4

[ ]

Question Number : 504 Question Id : 48558434049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which 15 the highest Peak of the Pennisulan Plateau of India?

1. Dodda betha

[ ]

. Mullayanagiri
3. Agasthyamala

4, Anamudi

Options :

485584136193. 1
485584136194. 2
485584136195.3
485584136196. 4

Question Number : 504 Question Id : 48558434049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136193. 1
485584136194. 2
485584136195.3
485584136196. 4

()

Question Number : 505 Question Id : 48558434050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

On which date 1s the shortest day of the yvear in the northern Hemisphere?
1. 22 Iune
2.21 June
3. 22 December

4, 26 December

Options :

485584136197. 1
485584136198. 2
485584136199. 3
485584136200. 4

Question Number : 505 Question Id : 48558434050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




I oS & Y w1 gey el A Py aila sl 82
1.22 5
215
22 foumaR
4. 26 Q@R
Options :
485584136197. 1
485584136198. 2

485584136199. 3
485584136200. 4

I
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Question Number : 506 Question Id : 48558434051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Crimial Identification Bill has been passed by President in April 2022. The Bill (or Act)

A. Empowers police to obtain physical and biological samples of convicts and those accused of crimes.
B. Empowers police to order measurement of photographs of a person to aid the investigation of offence.
C. Explains the data to be collected.

D. Provides the data to be stored in a Central database.

Choose the correct answer from the options given below:
1. C. A and B only
2. A CandD only
3.B.Aand D only

4. A. B and D only

Options :

485584136201. 1
485584136202. 2
485584136203. 3
485584136204. 4

Question Number : 506 Question Id : 48558434051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136201. 1
485584136202. 2
485584136203. 3
485584136204. 4
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Question Number : 507 Question Id : 48558434052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What growth rate The Economic Survey 2021-22 had projected for the financial yvear ending March 20237
1. 8.5-9%
2. 8-8.5%
3.10-11%

4. 7-7.5%

Options :

485584136205. 1
485584136206. 2
485584136207. 3
485584136208. 4

Question Number : 507 Question Id : 48558434052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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1. 8.5-9%

| ]

. 8-8.5%

C10-11%

L)

4. 7-7.5%

Options :

485584136205. 1
485584136206. 2
485584136207. 3
485584136208. 4

Question Number : 508 Question Id : 48558434053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which English writer has been awarded the Tata Literature Lifetime Achievement Award?

1. Arundhati Roy

[

. Vikram Seth
3. Ruskin Bond

4. Prof. Shorad Pagadey

Options :

485584136209. 1
485584136210. 2
485584136211. 3
485584136212. 4

Question Number : 508 Question Id : 48558434053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136209. 1
485584136210. 2
485584136211. 3
485584136212. 4

Question Number : 509 Question Id : 48558434054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII
Satellite Launch Date
A | Arvabhatta I | 2008
B. | Mangalvaan II. | 1975
C. | Chandravaan - [ IIT. | 2017
D. | IRNAA-1H Mission IV. | 2013

Choose the correct answer from the options given below:
1. A-IL. B-IV, C-L, D-III
2. A-1. B-IL. C-II1. D-IV
3. A-IV. B-IIIL C-II1. D-1
4. A-IV, B-I1. C-I11. D-1

Options :

485584136213. 1
485584136214. 2
485584136215.3
485584136216. 4

Question Number : 509 Question Id : 48558434054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ
T 11 = 11 ¥ i Sifen
T 1 RSN
STIE weraur fafd
A | iy I |2008
B. | HTagE II. | 1975
C. | g=aH-1 III. | 2017
D. | 3ff3.3R. TV, U¥1.-1 Ud fee IV. 2013
fafaRad [doedl O I Tgl 3Tk &1 99 HIf -

1. A-IT. B-IV. C-I, D-III
2 AL B-II C-IIIL. D-IV

LAV, B-IIIL, C-IT, D-I

L# 5]

4, A-IV, B-II, C-II1, D-I

Options :

485584136213. 1
485584136214. 2
485584136215.3
485584136216. 4

Question Number : 510 Question Id : 48558434055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Formal source of eredit for an individual does not mmelude:

[Ty

. Cooperatives

[ O]

. Banks
3. MUDEA Bank

4. RBI

Options :

485584136217. 1
485584136218.2
485584136219. 3
485584136220. 4

Question Number : 510 Question Id : 48558434055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584136217. 1
485584136218. 2
485584136219.3
485584136220. 4
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